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Q.1 (5 Points ABET 3,2) ,
For a 10 KHz band limited baseband channel we need to design a
system to transmit a 48 kbps data.
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Q.3 (5 Points)
Pk 7 Find the PAPR for the shown constellation. e 5
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2 (5 Points)

Find Energies and the correlation coefficien
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- Can we use these signals as carfier waveforms, why?
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2,1,1,1)
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SYStem Operatin

g at 200kbps with carrier of 100MHz and

Dra G .
W and label (in binary) the signal constellation.
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Find the requiréd channel BW?
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Find the average power?
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- Write the general equation for the transmitted signal?
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¥ ot the Reoceiver Sl‘oLQ'.
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Q.5 (5 Points)

Draw the block diagram of a_quadrature_receiver showing all important
components with two IF stages.
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Q.6 (5 Points 1 each)

1.

Orthogonal signals are used as carrier waveforms.

2,

Two dimensional modulation is possible in band limited base

band systems.

T

RF BPF is used to limit the noise bandwidth.

FSK has the best performance in fading channels.

FSK is a band efficient modulation.
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